Maple Worksheet 1

Feb. 10, 2005

Consider the function f(x) = 3x2-4x+5 and g(x)= 4cos(x)+3.

1. Solve the equation f(x)=0.

2. Find f’(x) and f’’(x). Graph f(x), f’(x) and f’’(x) on the same plot.

3. Find g’(x) and g’’(x). Graph g(x), g’(x) and g’’(x) on the same plot.

4. Find the integral of f(x) for x between 1 < x < 3.

5. Find the integral of g(x) for –10 < x <10.

6. Find the 

(a) Second order Taylor approximation of g(x) about x=0

(b) Third order Taylor approximation of g(x) about x=0.

Also,

(c) Graph the functions g(x) and the approximate functions from parts (a) and (b) on the same plot.

